4

T $ % SHM7TEE BIHALETKEEE
HhihXEREEETE

TERFR| #IH K3 K

HEOESE % #®

# R S=1/2500 | HEEE 7 Eh 1

MEEAR wHEAR

E5Em4 | B I il




T &
S=1/500 O

S=1/100

G? il

=

No. 25, No, 2035-7 oo A
- vR?“'lé)f Q%o s NO. 19
3 02035 124.00 4.64
1) ooy 0.10 4.04 o100 40
e = 1.47 2.57
<] Mé p
o ® -3
.
Az " %
35
TE%
o %
B2%
33 o
oS
(=]
o
Y I%’ﬁ SHEIEKE PRP 200 DP=1. 34
I
KB $100 DP=1.20 No. 20
m
g=! 4.79
\@6‘ *ﬁ ‘I /500 0.10 4.19 100_| 400
< 1.19 3.00
—] B
i
— %\.
20.00 U O
i i
5K E PRP 200 DP=1.34 KiE % 6100 DP=1. 20
15.00
) ()
B2y ‘
I:I 200 £00 ‘%\%\//\\ NO. 21
— 30. 0% 22. 0%
15.667 15.099 —r 4.00
| = SEN,E 015/ Q.50  3.35
Bk ] L ™
N b a0 b 1.52__ 1.83 ﬁL IE 2
10.00 PSR H2lon %R 18 TS AR He2.6n AR 1B \T S=1/10000
_ TR Y It SEEE E =L JSWAS|K-13) REERE ) N 7l
g %
=] ERRAER . —MRTEB s
1/500
. ]
DL6. 00m 20. 0%o 13. 0%0 34. 0%o0 \ L[
20.00 49.00 17.00 16.00 30.00 21.00 31.00 " I‘lﬂ
PRPe200
2035)3. 0~34. 0% 4
184.00 .
SHEIEKE PRP$200 DP=1.64 |  |kiti% ¢ 100 DP=1.20
o 5 z8 g3 8g ze 2 55 8
_?; — —— —— —— —— —— —— o
=
: : : : : : : :
= =T e oo = o = -
> 0 ™™ ™ [Sr e (3ol <~ < © ©
® - —_—— —_—— —— —— —_—— —_—— —_
.H
= = =S = e — = =
e 3 g8 8§ 82 z5 88 g8 =
{H.Tﬂ 2 22 == == L Lee ee B ST EE BITARTKESE
T T T T T T T T I E &
' o ] ] S &) 2 3 5 BPpREREETH
s p e i o s e ~
g & z = = e = o =
= = = = = = = = = THE- #Ilm KHE e
& = = = s 2 2 2 2
g & S S e e = e ; ; . ;
o HEOELE | FER - #HE - EmE 01D
: : : : : : : :
% g g g e g g e g
';;}; i < £ = ° 8 ] - M R = HEES 7 FEh 2
: - - - - - - - - X TERMIBTRET 5 & —
« I 2 % 1 0 £ n T FABPOLE - RS, BLU MEEAR HiEAR
= 2 2 2 2 3 2 2 3 ENRERFEHIANDIL
& & & & 8 & & 8 _
=HHE | # n T




20.00
15.00
| B
7L S &AR H=2. Om TILSERAR H=2.5m 7L S &R H=3.0m 7L S &4R H=2.5m 7)L 3 %&4R H=2. Om
10.00 HR 1 4 ALY SR 28% XIR 28 X{R 18
XR 2%
| TAKEA Y T S BB E =L (JSWAS K-13) RREER
o
o
= | ERRAER - —ARTEA | EIRIER - WES ERRAER - RENARE
T 558| 9.60 432
DLes. Oom 23. 6%o 13. 7% 30. 0%o
28.00 19.50 32.50
PRPe200 PRPs200
2037)13. 7~23. 6%o 2038) 30. 0% ——>|
80. 00 25.00
— — w0 [) ~ mo o ™ —
" & 58 8 T 28 2 s
_?; —_ —— o SN —— —_
=
T — — T T
= oo © o S o =
> ~ N © ~ — NN [rr e} N
® — —— — RN —— —
.H
= o= © - S ~ =
e 3 8y = s 88 3= 8
- 3 SIS ISP P 5
T — — T T
) ~ ~ ) < ~
JIE ~ o o ™ » — o
2 = > > s o o ~
- e s @ s 2 < =
T — — T T
& S g =2 E S 8
& S < o & o~ s =
= o~ ™ A <+ (==} 2
Fﬂ T T T T T T T
= S o = =
3 S S o © ™ o S
o] o 2 w o < % ﬁ
k3
T — — T
o T Y T ¥R T T
oL Lol IR g & &
- 5 5 5° B5w 5 2 2
& 2 2 3 2e 38 2 2
~N o~ N+ N+ N ~N ~N

1
<.
NG
Q7

N

2

| oot

\T

2

3
3

50

M X

S=1/

100

NO. 22
14.29
10.79 3.50
0.52 9.99 0.28
5.79 1.50 3.50 22 3.28
2.67 1.32

JKEE ¢ 200 DP=1.20

EHEI;EKE PRP¢200 DP=1.20

NO. 23
14.01
11.48 2.53
0.52 10. 46 0.50
4.75 6.73 2.03 0.50
2.24 8.22

bed

ETEI;EKE PRP 200 DP=1.79

7KEE ¢ 100 DP=1.20

K TREMILTHAET &
FHKMOME - RS, BLY
ENERERFZEREN L

B

&

Jjo

‘ il

&)

i

B X

~S=1/10000

e
BT EE BIITLARTREEE
I % 4
BRMREELETS
IHER BT KH A
HEOELE | FER - #HE - EHE (12)
e R R HEES 7 Zh 3
REEAR &EtEAR
=Bme | # n ™




T mE K

= LS
= IO SRR B\
el 1 =
) §§£37r ’
75| 900 ‘ 75
1050
1110

153 R—IL

T R— LR

R 1:30
6 47 0 HETEX
820 820
1 600 _, | 110 110
° (¢ 600mm)
s BY
Y-k >, ] | -+ L L B B
g %
75 9o 5 75 75
wit-MA T ER T =] wi-MAESF
= o AN EZEY L k&7 ay)
Ef ] ~ (1:3 t=2cm)
= e
b= S S o g -8 T
7 i — g Prg B
C T 2 W
BRER
(RC-40)
1050 1050
1110 1110

N

-~

X R—)L

R 1:20

oo |
SIS
SIS

Ivk—ILRS

Iﬁj

LEE

20~69

H1_|[110

LU Yy byvy

il

Vrybyy

Y=t

|
11
[

FERR
BEAR

49

H2

200

a7

FE

IE4H

BT AR TRESE
BhmRERFETE

g KE A

HmEmDELE

T UR—ILRER

8 R

K= | REES 7 ¥4 4

E S e

# H




BT EREMRE
(B4 TA : #H)
L1
L3 L L2 450 450
B
ERBERV
BEYRE 0200
TUBYFRAT
| R Bith 6. L.
i 2%

it EARAER

$=1/20 (A3
S:1/10§A1

VU 9200

BERNOEIR

Hb

EEE $150

T EEAEREE
(B4 TA : HEE PEL)
L1
L L2 450 450
B
EREBRV
‘ Eibm B oL
l ‘ ~
I
| |
| |
| |
| |
A0 & &P BEE $150 ‘ ‘
[ | ‘
|
|
HEXISEHEE ¢ 150 N
EDNN |
HEE 9150 ‘
| |
| |
s
BHEXE ‘ujﬁﬁf¢%

Lgfgfgfgﬂgxg,g,g,J

Rt E R #E A 3R

(54 7B : #iE)

L3

450

450

TUBRYFEAT
| RN

BERBERYV
BETRE 200

i
VU 200
Hc B GL
A 7 [
HERNOETR
Ha ‘{§5*531£; ‘
BEE 6150 @EBEA | |
] | |
\\\ | |
Hb ‘
‘UjﬁﬁEKE
_]
BT T BT I
(RIEER) (LB ER)
1RHINE BBIE 1RHINE R
] ]
= BRI = BRI
N (BERTH) ® (BERTH)
HC T
=B ]
e e EL)
\\\ \\\ 5 SR7EE HIHALTAERR
| Snamee s, ! mses, T
BEZSE S — b BEZE S — b RGeS
i <> B C) TEGH | BIE KM W
O - HEmniEsE B EEER
S . b ! A1 :8=1/10 | = =
| | B R o310 |BEES T RS
BRET WRET RMEFAR HETEAR

EHFL #

nooTm




T THEAEF

$=1/20(1/40)

HEBA R OEEIER L

BEN 48 —BHEAS 4 T —lBmhEBY A4 T mESE (—ARER)
i’ Hl i Hl i Hl & Hl
iEE 2Big 1BHIE e 1BE 2] IBEIE  BEAEX200
200 300 *300 RIEX
B AEIEE EEE AEE R AEIER BIES AR
E: T
8 g S 2 = 8 = o 4&%&&_ o
SRR T suhmp BT § > §
] 1 ]
] f VIR
2
| | |
e w =
% iy | BRUHE % wmEy | BRUHE % s | BRUF HEY | ERELE
EH | EH | EH |
> p D )
i i
| | |
L L '
HEREL HERL HERL BRL
iEHE 2Big 1BHIE e 1BEIE BEIE \ENliE EBIEX200
200 300 300
B AEIER EEE AEE IR AMIEE B AR
% B T (EETHETI(19)ARS) £ B I (EEEsETi(13)ARS) EBEI (EETHETZIY (13) ARA) BI E4BMEFRI 013 ARS) BT (BETMETZa(13) ARS) EET (BEBHETRIL (03 ARS) % B T (SAEsEriy (3)ARS) % B T (EAEMET (DARS)
TREBET (F4 TEEBHRC-40 | | EEEET GERE BT (HIREN-30) | BB T CHIEREN-30) I BT (F 4 TR0
TR T (54 T BEEHRC-40)
g 3 g 3 g 2 o 9
| . | . | . L g
T (=) i (Yo _ —
J W #_ 3 00 [0 _
13 m 2 g S 8
b B i a &
| o | o | ¥
SN BRER# N BRERH = BRER#F
§(R . ; = (BEBTH ;:e .%% (BHERETH) ;:e § (BB H) -
o I = = = Vil B
i BERLEH) pgLm o BR LU o BRLUF = v EELF .
= = = =
= | ﬁ g | ﬁ 2 | ﬁ fﬁn ‘r—{
=R M 2[R fi:de 3o 2[R BikE | X Bkt 5
@\ (ﬁiﬁiffz-)l_\ o (BT & (BAmLH) \ 8 (Bt
= iRy — b A = R — ox
de ol — e — de ol — T8 [ weEm
g g | S I Sh_8
| | | !
_fEER )
S SH7EE BIHARTAESE
R LA
R LES BOBREEEETE
R L A | mL == iilaleliai
A IR TR Bim K R
B | # M| A 51| &
c | m|A n|aon REOEE TTEER (1)
1) BEREICEHTH 1 BELYER 20on, BB 00m £F5, (SAIFRERARE) = R S=1/20(1/40) 2 7 6
E2) BIESHSICONT, 1.00m UTOBE. HENEET S, B R s |REES T XF
Q) SEMEMARICOVTIL, EEENAR £18T 3.00m . HEEIAR 1.00m 2EIEXMEK LT D, AEEAH R ERH
F4) BERIICEITAARRIE THBEW) £55,
2 TSI S || I




3.50m <H=3.80m

R HIE

i m X

2.00m <H=3. 50m

R 1E

FIL=S

AL ERETIR4ER

T A TISRR |
B2 L L=4.00m -
_— BELREXRF 3 |
i <
i 13
8
N
% |
; B
o =
=
3
i |
OHY
] I
4
o

BEMEIR - 7ILIRIR

g | 1 AL R g
= 2L L=4. 00m 3
< | BESEXR 9
|
har g 2 £
3
E ™
E 4 o
o | £
o~
£ 8
Lo =
e =
% o I =
F
=
3 ===z 5
[s+)
c o
S BEEXIR - FILI XK 1
= e
1=
il | S
o =
I3
g | L
S
E |
750 2500

g2 L L=4.00m

BEEEXHKR "\

750

$=1/20(1/40)

H=2.00m

R AR

e L L=4.00m

— BESRXK

o9 2

| emmxin- 7ossR

BEMER - TILI KR

TILERIREER

HES—RF, ROEBYET S,

- ZRIHE
FHIR FIREM “ma —aE —aE
H=2.0m 16 GL-0. 85m - -
2.0<H=3.5m 28 6L-0.50m ABHIEEA 0. 80m -
3.5<H=3.8m 3 GL-0. 50m —B B BB QG | EHIEED 50.80m
TEEFHRUVIEEER
TEEH
TERX5S =gl mELT b
BREESE ¥ =20kN/m3 ¥ =19kN/m3 ¥ =18kN/m3
¥ E A c=0 c=0 C =25kN/m2
TAMEZRA : ¢ =35 ¢ =30° $=0
LEE: 10 kN/m2
KA : BEIERUT OKEEXEELAL)

FHEIEDOHERKIL SoF2 - LY—LXEEAT S,
XRIFMENEE, TAHAREBZEERAT S,

EHE 333

BESRIRIMER (100m. 1Ex%Y)
BEL# 50. 04
3 4
BELES4m DEYS 50. 0%
EiRTER
EHIE H " XiRE | XBRI | EHEE |[gREO| & | BEEL
m e (&) m |8 m|EEseEa
H=1.50 EI 0.80 O - -
1.50<H=1.80 |ZILIE®|R| 2.00 1 0.90 o | 5|
1.80<H=2.00 " 2,50 i 090 | O B E
2 00<H=2. 30 " 2.50 2 000 | O | |%HE
2. 30<H=2. 80 " 3.00 2 0.90 R
2. 80<H=3. 00 " 3.50 2 0.90 - - | -
3.00<H=3. 30 " 3.50 2 0.90 - -] -
3.30<H=3. 50 " 4.00 2 0.90 - - | -
3.50<H=3. 80 " 4.00 3 0.90 - - | -
SE)
HEMEEE (FILSXR)
KIRIRIZDOE | EIEImIcDF
2 5.0 kg/m 15.0 kg/m’
11
2 SH7EE BIHARTAESE
I
BOMREEEETE
IEEA #ilm K R
REOEE |7IVIXRIBRETEER

% RS=1/20(1/40) NEES 7 &k 7

() RIFASKR

HEFAH

KEtEAHE

gHme | B Nl




